Seat No. :

MO-101

July-2021
B.Ed., Sem.-]
B-111 : Accountancy
Time : 2.00 Hours] [Max. Marks : 50
I.  Answer any six questions from the following : (6% 7= 42)

4. Clanfy the aims of Accountancy at Higher secondary level.
2. Clarify the concept of Accountancy & state the importance of Atcountaney at

Higher secondary level.
3. Wrnite four-four specific objectives and expected behavioural, changes of general

objectives ‘knowledge’ and ‘skill’.

What is Inductive method ? Clarify its merits and demerits.

What is Micro -teaching ? Clarify the steps of Micro teaching.

What is lesson plan ? Clarify the components of lesson plan.

Write journal entries for the following transactions in the book of Rame

(1) Deposited cash ¥ 20,000 with Vijaya Bank and opened an account.

(2) Brought ¥ 50,000 cash, debtors ¥ 20,000, stock of goods < 10,000 and

creditors of 5,000 and commenced business.
(3) Goods of ¥ 20,000 purchased from Sumul at 10% trade discount and 10%

cash discount. Paid half amount by cheque.

(4) Goods of ¥ 15,000 sold.to Mahendra on cash at 10% trade discount and
10% cash discount.

(5) Due to additional requirement of funds. 12% loan of ¥ 25,000 obtained
from Axis Bank.

(6) Both life insurance premium of son ¥ 450 and fire insurance premium of
< 550 paid by cheque.

(7)  ¥.2,000 paid by cheque for salary and wages.

A8 State the charaeteristics of Accounting.

9. ~"Machine account shows balance of ¥ 60,000 in the book of Betul & company on
1-4-14. Company provides depreciation at 10% every year under reducing
balance method. This machine was sold at 25% loss on book value on 1-10-14.

From the above information pass necessary journal entries and prepare
machine account in the book of company.

10.  Where will you disclosed the effects of the following adjustments during the
preparation of final accounts of a partnership.

(1) Interest on debit balance of partner’s current account
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I[I. Answerany four questions in one sentence :
State four general objectives of Accountancy.
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(2) Closing stock of stationery

(3) Unrecorded credit sales

(4) Receivable income (Outstanding income)

(5) Prepaid expenses

(6) Discount reserve on debtors

(7) Commission payable to partner on net profit

Rajesh and Harish are partners of a partners
partnership firm’s profit and other information,

hip firm. On the basis of their
determine the value of goodwill

on the basis of two years purchase of super profit.

(1) Capital employed : < 8,00,000
(2) Expected rate of return : 12%

(3) Previous years profit :

Year Profit (%)
2014-15 1,20,000
2015-16 90,000
2016-17 1,50,000

Nisarg Pharma Limited of Gandhinagar issued 80,000 equity shares of X 10 each
at a premium of T 40 per share. Amount was called up as under :

On application ¥ 14 per share (including premium ¥ 10)

On allotment ¥ 33 per share (including premium < 30)

On final call T 3 per share
Company received application for 85,000 equity shares. Excess applications were
rejected and money paid thereon was refunded to applicants.

Due amount on allotment and last installment was called on time. All sums due
were received i full except allotment and final call on 2000 equity shares held by

Devami.

Pass journal entries in book of company.

(4x2=28)

State two characteristics of specific objectives.~

State two points of importance of simulation.
State two merits of Set induction skill.

State two point of difference between general reserve and provision.

Explain terminology : capital and drawings.

Explain convertible debenture.
State two point of difference between share and debenture,
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L Q1200 A8) Sl £ Ul ovelel AL (6 % 7= 42)
1 Gaaudz WiuB1s s2UB AL RIa1QiAL vl U 831
Al AEEUAL Y 531, BR1dR HIBAS 52U AL [R1z181 Mewd ucl.

‘sliet” 24 Blateat’ AL Al AR-AR R Il 247 AR At R VL.
A UG D2 2 7 A Ul et 2 SReet VUL

&M 2UAMA 2@ 1 7 4EH DAMAAL WAL U 3L

s ALY D2 9] 7 W6 AR -A-L 825l U 531

AL ALSIRIAL UL AL AU 2AHAL QUL

(1) [Rera 6lsai T 20,000 Asst GR1 vt VG,
(2) T 50,000 AsSL T 20,000 AL ZUERL T 10,000 Al A 25 AL T 5,000 AL

ALIERL aldl HHl 23 sl
(3) % 20,000 Al e ¥He WL 10% AU @21 2 10% Rss d21d WRIEL.

541 LR AsUL Asel.
(4) WA T 15,000 AUHIE 10% DURL 42l 24 10% Uss 9219 As3| Al

(5) el 2y Atisl o3z @il Axis ol-sHidl T 25,000 -l 12% Loyl Al

el
6) ottt [vEdfleit - MG T 450 2 1L i MFH T 550 ol Akl

YSUL.
(7) MU -HAEIALT 2,000 As| Yseul.

8. [Suell ugld-l @eatel aveudl.

9, 4 Oleel s EU-AlAL AWML AL 1-4-14 AL 1Y 43t Wicti-l oSl T 60,000 6. su-l &3
a4l 10% @ 12dl ol ousl-l 2 aARL S S. dl. 1-10-14 AL Aoy 241 st d-Al A

Bt Uz 25% s A1 QAL Bl A1y,
Guz-l (@1l w2l Sl AR 33| AT 2 2avilg R 530

10.  owlgE]l WAL Raol duR sl avid AL saiculi-l 244 s4i sulagll ?
(1) ewllerAl e vidil Gur ousl ey
(2)  RUAZIAL BildH 2218
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(3) AR Alte Gur UL

@) HoadiAl ousl 248

(5) 20uBel ysda vl

(6) BABR MR 4219 M

(7)  eu{lEiRA 2wl gL R Ysadl SR

2vaL 2 $3l2 s ewllerdl AL ewlerRl 8. Azl cwllerl YzlAL A%l Al A4~
WRAAL 20 ewledl WA waddl Bxd 21 gl o @l WHIEIA MR

A5l 531,

(1) RAsrlel ¥l : T 8,00,000
(2) 2B ANARALER : 12%
(3) weal Qi A4l ;

11.

ay 4l (%)
2014-15 1.20.000
2015-16 90.000
2016-17 1,50,000

12, el [A4] sl [&R2s T 10 Al 2As AAal 80,000 YEAZ) A=, AES T 40- L

UIFHAH 1R WAL R8M 1A 3ovor duaal 24l ed)
22129 uid URELS T 14 (T 10 MBReL URA)
R¥R] quid WREs T 33 (3 30 MG URe)

s AL el Lt Q€S 7 3
5\l 85,000 6321 A3 M2 22BN gelll wuRI-l WM ARIAR 534

UL A Al UR 2499 Quid HAGR5H DRYERIA YR 531 24l
HIEL 2 2L el Al 2l R53 AU HWoudart] 2udl odl andH

MIREL 536 2000 LR R HAR| B 2 eetiedl 253 Riart ot AR R YRyEl 80

HUil e el
Sl AU 33 2AHAIM YA IR 530

L -l U] Sy AR Wal-L 25HI ol Al - (4x2=8)
L AL YR AU AL vl
2. [AlRwRq-t G aztell 29w sveudl.
3. _ROYAUAAHEAL A gL ovoudl.
4 At dlaicudi o siuel oveuel,
3. | A A AL gl A HgL voudl.
6. . HIL A Bys ye umondl.
7. slod RA=r unmdl,
8. AR ¥ R4l sttt A gt vy,
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